#

[=i

5-2FESENHADEEZERL TITSEXR

{5 /K AL PR i R B (g A2+ 4 2 Tl 97 0 5528
KR ERDHERIT, UTDOLBYEERBIHRDLFREFLT LTS, 2B, BEETFIZO
W, BRI E AT 2R L7Z XIS & 5

s ANFETFKGE e A X R 843 AICH R
TEEMIX PRk 1 345 AlcEER
SYUMMIX R 1 743 HICE R
E=E=IN
WL /N
[ D]
NIETFAKGE, bR (8RR E )
Exdreg
AHETFKIE /NP O I, T ERYRHIX = P X

FALRE (RARER) /N O KB FEERE ] DM OV SR B DK FEE A BR An X
ol B < XK

AN IBIIRIIRX I Z & %

(=2 ]
NHETKE W1 T~ 2 1R
Ferl (M AGREDRY) PR 1 8B~ 2 1 4R
[

NETKE ZftedgHEE ¢150~¢200
HAbRE (fE NG E ) 5 N1 6 0K
TARE 120K
1 0 A1 6 0%
7B, BRI L DHHROLBEAOITTFRROERBY,
AR AKE FHE#IX T8 0 6 A, —HEIEHX T, 9 2 8 A,
—VHHIXTI 1 3 A

L=13,000m

Wb (EAGKERD)  650A
[ ]
INFETFKIE HEE 520,000TH

(9B, 2Zfhe

el (AR E R R
(96, 22fhe

+ £ 5
(9B, 22

260,000 TH)
101,700FH
33,900 TH)
621,700FH
293,900FH)

AN
=

ol

5-2FFAEDHHDEEZERL TITSEXR

{5 /K AL PR i R B (g A2 4 2 Tl 97 0 5528
MR ERDHEFIT, UTDOLEBYEERBIHRDLFREFLT LTS, 2B, BEETHIZO
W, BRI E AT 2R L7Z XIS & 5

s ANIETFKGE e S X ERE 84 3 AICH R
THEPEMIX R 1 345 AICEERE
SUPHIX R 1 743 Al HEER]
[FH¥T1A]
WL /N
[ D]
NIETFAKGE, R (8RR E )
[ ]
AHETFKIE NP D S, T ERYRHIK = P X

FALRE (RARER) /N O AL KB FEERE AT DM OV SR i DK FEE A BR AR X
ol B < XK

AT HITRIIR I K 5

(=2 ]
NHETFKIE Wk 1 T~ 2 1R
LR (A ARRER) Akl 8HFE~2 14K
Eidd
NHETKE $»150~¢p200 L=20,200mC X F*xHEZ L=-8000m

CEMEZE 1=12200mDEEFHEFRRE L TNV 2D, )
bRl (E AR E ) 5 N1 6 0}
7TAFE 1203
1 0 A\f# 6 0%
EDHHONMEANOIT RO ERBY,
SHEHX T8 06 A, —HEIAHX T1, 9 2 8 A,
=YPHIX T 1 3 A

ASSNIE-S T4
N KA

HerlE (EAGRERD) 650A
E==cd
INFETFKIE FEE 440,000FH

(9B, A4
el (AR ER) HER
(9B, At
et HEHR
(95, &t

220,0007FH)
101,700FH
33,900TH)
541,700TH
253,900TH)




